Figure S1:

UGS LSRUERE LN 7 completely missing SNPs
completely missing or

Remove SNPs that
are missing in more
than 200 individuals

Determine exclusion threshold
of the number of SNPs each
individual is missing

Remove individuals
that are missing more [BEFATle[ o NEIR
than 2,500 SNPs

1,774 individuals

32,823 SNPs

L 4,148 monoallelic SNPs

1,774 individuals
28,668 SNPs

Replace heterozygous
genotypes in males 5,080 genotypes
PR replaced
with “missing
y

A

1,774 individuals
28,668 SNPs

Determine exclusion threshold Threshold =
of the number of individuals 200 individ;als
from which a SNP is missing
y

A

15,616 SNPs

1,774 individuals
13,052 SNPs

Threshold =
2,500 SNPs

1,647 individuals

13,052 SNPs

Pipeline for processing X-chromosomal data from Behar et al. (2013).



